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p

3

10.

6 =120 - 38x
1+ 18x =523
29x +9 =38
558 - 23x =6
3=131-16x
27 + 35x = 972
4 = 2 254 - 50x
24x - 26 = 574
63-9x=9

178 = 10 + 6x
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16.
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18.

19.

20.

Oldd meg az egyeletet és ird a megoldast a mellette lévé helyre!
1.

33x+32=1154
30x +45=1185
27 + 14x = 419
41 + 9x = 239
471 =24x + 15
401 -20x = 1
7=51-22x
537 =13x + 17
211=15x-29

184 =13 + 9x
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28.

29.

30.

34x + 16 = 1648
26x - 35 =1 057
167 = 12x - 49
34x -43 =773
9=714 -47x
14x - 38 = 564
42x+29=T71
50x -21=1929
5x +25=50

15+ 21x =708




